Dr. Shirley's Greek Courses
Grammar

The Perfect and Pluperfect

The Perfect Tense is used when describing an action which took place in the past, but whose results are still
effective at the time of writing/speaking.

The Pluperfect is used when describing an action which took place in the past, and whose results were still
effective at some time in the past.

The Perfect Active Indicative is formed with the augment (for past tense) preceded by the first consonant of the
verb stem. The personal endings are similar to the First Aorist, but with a k in place of a ¢

There are also a few verbs which miss out the K, - they still have the same endings and the reduplication; they are
called Second Perfects.

The Perfect Passive/Middle Indicative (Passive and Middle have the same form) has endings similar to the
Present Middle/Passive.

The Pluperfect may, or may not, have a second augment in front of the reduplicated letter,

Perfect 2" Perfect Perfect Pluperfect Pluperfect
Active Active Passive/Middle Active Passive/Middle
AeAuka yYeypoado AsAupan AeAuketv AeAuunv
Aedukas  yeypodas AeAuoa AeAukels AeAuco
AeAukev  yeypodev AeAuTal AeAukel AeAuTo
AeAukouey  yeypodouey AeAupeba AeAuke1pev AeAupeba
AeAukoTe  yeypoodaTe AeAucbe AeAukelTe AeAuoBe
AeAukoolv  yeypoadaoiv AsAuvTat AeAukeiotv AeAuvTto
(AeAukav)
Perfect Active Infinitive : AEAUKEVOIL Perfect Passive/Middle Infinite : AéAucBa
Perfect Active Participle Perfect Passive/Middle Participle
M F N M F N
N AeAukos  AeAunuia  AsAukos Ashupevos AeAupevny  AsAupevov
A AeAukota  AgAukutav  AeAukos Aehupsvov  AsAupevniv AsAupsvov
G AeAukotos AegAukuias  AeAukoTos AsAupsvou  AgAupevns  AsAupevou
D AeAukoTi  AeAukoTa  AeAukoTi AsAupeveo  AsAupsvn  AsAupeved
N AeAukoTtes AegAukuton  AeAukoTo AeAupevol  AgAupeval  AsAupeva
A AeAukoTtas AeAukulos  AsAukoTo AeAupevous AeAupevas AsAupeva
G AeAukoTwov AgAukuicov AsAukoTcov AeAupeveov AgAupeveov AsAupesveov
D AeAukooiv  AgAukuiais AeAukootv AeAupevols AgAupevails AseAupsvols

If the verb stem begins with a vowel, the vowel is simply broadened by contraction with the augment,

If the verb stem begins with 2 consonants, only the augment may be used, but not the reduplication

o, C, € often do not reduplicate - only the augment is used. Reduplication of ¢, 6, x gives m, T, K
If the verb stem ends in a vowel, the vowel is usually lengthened before the k

If the verb stem ends with T, &, 8 they usually drop out before the k

For examples of the Pluperfect : Mark 16:9, Acts 14:23
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